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PART A: Vocabulary 
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the correct 
choice on your answer sheet. 

 

31- You won’t be … enough with your destination if you don’t read as much as possible about its 
culture and tourist attractions on the Internet. 

1) attractive 2) domestic 3) familiar 4) healthy 

32- Whenever she has a plan for a trip abroad she tries to learn the useful words and phrases of the 
… language a few days ahead. 

1) usual 2) general 3) oral 4) local 

33- The widespread outbreak of Coronavirus is not a … Iranian problem, but it is an issue in a lot of 
countries around the world. 

1) vastly 2) greatly 3) diversely 4) uniquely  

34- Do you know what chemicals are in household … such as washing powder and paint? 
1) inventions 2) products 3) customs  4) handicrafts 

35- They held a three-hour meeting to … the situation, but unfortunately they didn’t reach any 
agreement. 

1) follow 2) discuss  3) recognize 4) attend 

36- Our strong sense of national … has been shaped by our glorious history, and this makes our 
nation feels proud of its past. 

1) experience 2) humanity  3) reality 4) identity 

PART B: Cloze Test 
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the correct choice 
on your answer sheet. 

   Writing is considered a tool for the comprehension of the contexts all over the world, but in 
Iranian … (37) …, writing has made its way towards becoming a respected and famous art. Iranian 
people have always appreciated the beautiful art of calligraphy and its diverse decorations. … (38) 
… various kinds of calligraphy to beautify and enrich handicrafts, rugs, metalwork, tilework, and 
even buildings is a sign of their interest in this art. Most of the handwritten books of Iran, especially 
the Holy Quran, and … (39) … of poems such as Shahnameh, Hafez, Golestan and Boostan have 
been recognized as valuable artistic works because of their touching calligraphy. If you visit an art 
museum in Iran, you … (40) … excellent pieces of calligraphy.  
37- 1) range    2) discount  3) culture 4) pleasure 
38- 1) Using   2) To using 3) Used 4) Use 
39- 1) combinations  2) recreations 3) imaginations 4) collections 
40- 1) have found  2) will find 3) found  4) find 

   2 15 
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PART C: Vocabulary 
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the correct 
choice on your answer sheet. 

41- We have a rich and great culture in Iran. As members of this society, we have to … our culture 

and do our best to introduce it to other people all over the world.  

1) depend         2) appreciate  

3) create          4) decrease 

42- It was a very … moment in the film when the mother became aware of her son’s death but still 

couldn’t believe it.  

1) boring  2) increasing 

3) confusing  4) touching 

PART D: Reading Comprehension 
Directions: Read the following passages and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct choice 
on your answer sheet. 

Passage (1) 
A device has been developed that enables babies born blind to see the world through echoes from 
an ultrasonic scanner. Dr. Tom Bower, of Edinburgh University psychology department, told the 
British Association annual conference that he gave the device to a 16-week-old boy in the U.S., and 
the child responded to it within half a minute of putting it on. 
  The battery-operated scanner sends out a pulse of ultra-sound through a cone attached to the 
forehead. Through earplugs the baby is able to hear echoes in stereo which tell him what lies in 
front. By moving his head, he will detect sounds from different parts of the room.  
  The closer the object is, the lower the pitch of the sound is. The bigger it is, the louder the sound is.    
The child can also establish whether the object is hard or soft: a hard object will give a clear sound, 
and a soft one will give a fuzzy sound with overtones. Normal voice commands can be heard by the 
baby while he is wearing the device. 
  Bower first tried it out on a blind baby from the Berkeley children’s hospital in California. The 
baby, Denis Daughters, seemed delighted and played hide-and-seek with his mother after a few 
days. He enjoyed finding her in a room. At the age of nine months, he had reached the development 
stage of a normal sighted baby. He was able to perform tests such as balancing an object on two 
prongs or on a table edge. This may sound unimportant, but few sighted children can perform such 
a task before this age. 

43- What is the best title for the passage? 
1) The World of the Newly Born 2) Seeing with Ears 
3) Scanners: A New Version 4) Scientists Help Doctors 

44- The word “it” in paragraph 1 refers to … . 
1) device  2) echo  
3) conference  4) department 

45- What does paragraph 2 mainly discuss? 
1) The quality of the sounds received by blind children 
2) Who the new invention is good for 
3) Ways to use the new device 
4) How the new device works 

   
    

     

   2
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46- Why does the author mention “Denis Daughters” in the last paragraph? 
1) To show how to stop blindness in childhood  
2) To indicate the importance of playing games for the development of children 
3) To cite an example in support of the fact that the new device is practical 
4) To prove that more tests are to be performed before the new device can work efficiently 

Passage (2) 
One of the most important decisions at the time when people grow up and become adults is what 
job or career to choose. However, with so many possibilities to choose from, this decision is often a 
difficult one to make. In addition, there are many factors that may influence an individual in the 
choice of a career and some of these may be conflicting. For example, family pressure, the potential 
for earning money, and one’s own personal interest may all be factors that pull an individual in 
three different directions when trying to decide what career path to follow. 
  Although it is often stated that by the time a person is a young adult, he/she will know what he/she 

want to “do with their lives,” in fact, the process of finding a career may take a long time. It is not 

uncommon for an individual to try more than one career before finding the one that leads to job 

satisfaction. 

  Clearly young adulthood is a period of stress. It is a time for raising a family, finding and 

maintaining the “right” job, and keeping a balance among self, family, job, and society at large. It 

is a period of life that requires great energy. Fortunately, in terms of physical development, we are 

at something of a peak during our 20s and 30s. 

  As Levinson (1986) has stated, “early adulthood is the era of greatest energy and abundance and 

of greatest contradiction and stress.” 

47- Why does the author mention “family pressure, the potential for earning money, and one’s own 

personal interest” in paragraph 1? 

1) To give examples of adult responsibilities 

2) To explain why adults need to choose a career 

3) To introduce some of the factors that influence an adult’s choice of a career 

4) To discuss the positive and negative effects of any career choice 

48- The word “one” in paragraph 1 refers to … . 

1) factor  2) career  

3) decision  4) possibility 

49- Which of the following is NOT true according to the passage? 

1) Early adulthood is a period in which adults undergo stress. 

2) Individual young adults do not all exactly know what they want to do with their life. 

3) Keeping a balance among self, family, job, and society can be a source of stress for young adults. 

4) It is highly unlikely for a young adult to change jobs before he/she starts the one he/she really loves. 

50- The passage is primarily intended to … . 

1) inform people  2) make a suggestion  

3) introduce a finding  4) provide advice 
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PART A: Grammar and Vocabulary 
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the correct 
choice on your answer sheet. 

141- I … that he was strong enough to carry the bag himself, but I was wrong. 
1) feel  2) was feeling    
3) felt  4) am feeling 

142- Mark is working a lot of overtime these days. He … need some money.  
1) can 2) should 3) will 4) must  

143- Bringing a smile to the face of a five-year-old boy, a team of police officers bought a cake and 
delivered it to him … Tuesday evening.  

1) on his birthday on  2) at his birthday on 
3) on his birthday in  4) at his birthday in 

144- The school said the change was made at the … of the Jamail family. 
1) introduction 2) suggestion 3) attraction 4) destination 

145- Last night, I couldn’t close my eyes even for a second because all kinds of … were racing 
through my mind to march in front of my eyes.  

1) emphases 2) thoughts 3) attentions 4) feelings 

146- Iran is considered to be the best country in the Middle East and … the most popular destination 
for foreign tourists because a wide range of activities can be found in this four-season country. 

1) probably 2) suitably 3) frequently 4) generously 
PART B: Reading Comprehension 
Directions: Read the following passage and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct choice 
on your answer sheet. 

“Click!” That’s the sound of safety. That’s the sound of survival. That’s the sound of a seat belt locking in 
place. Seat belts save lives, and that’s a fact. That’s why I don’t drive anywhere until mine is on tight. 
Choosing to wear your seat belt is as simple as choosing between life and death. Which one do you 
choose? 

Think about it. When you’re driving a car, you may be going 60 mph or faster. Then somebody 
ahead of you locks up his or her brakes. you don’t have time to stop. The car that you are in crashes. 
Your car was going 60 miles per hour. Now it has suddenly stopped. your body, however, is still going 
60 mph. What’s going to stop your body? Will it be the windshield  or your seat belt? Every time that 
you get into a car, you make that choice. I choose the seat belt.  

Some people think that seat belts are uncool. They think that seat belts cramp their style, or that seat 
belts are uncomfortable. To them I say, “what’s more uncomfortable? Wearing a seat belt or flying 
through a car windshield? What’s more uncool? Being safely anchored to a car, or skidding across the 
road in your jean shorts?” Wearing a seat belt is both cooler and more comfortable than the 
alternatives. 

147- What is the best title for the passage?  
1) A Cool Saver  2) The Slower, The Better 
3) Road facts  4) Different Seat Belts 

148- The author’s main purpose of writing this passage is … .  
1) to inform readers about seat belt rules 
2) to encourage readers to wear seat belts 
3) to emphasize that accidents are almost unavoidable 
4) to describe what car accidents are like without seat belts 

149- The underlined word “mine” in the first paragraph refers to … .  
1) car 2) life  3) the choice 4) seat belt 

150- Which statement would the author most likely DISAGREE with?  
1) Being safe is more important than being cool. 
2) Seat belts will keep you safe in any car accident. 
3) Wearing a seat belt is cooler than suffering an injury. 
4) Seat belts keep you from flying through the windshield. 
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PART C: Vocabulary 
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the 
correct choice on your answer sheet. 

151- The firefighters tried to … the fire as soon as possible, but unfortunately the 

whole house came down.

1) cut down  2) fill out 

3) search for  4) put out 

152- Their life … from a very strong emotional bondage to killing hours window-shopping with no 

sense of purpose. I think the same thing is going on with many couples.  

1) brings  2) signs 

3) ranges  4) sticks 

PART D: Cloze Test 
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the correct choice 

on your answer sheet. 

A national flag is a flag that represents a country. The national flag is …(143)… by the government 

of a country, but can usually be flown by citizens of the country. A national flag is designed with 

specific …(144)… for its colors and symbols. The colors of the national flag may be worn by the 

people of a nation to show their love for their country. The design of a national flag may be changed 

after the happening of important …(145)… events. The burning or …(146)… of a national flag is also 

a greatly symbolic act.  

153-1) studied  2) used 3) grown 4) moved 

154-1) feelings  2) beginnings 3) meanings 4) followings 

155-1) historical  2) additional 3) experimental 4) international 

156-1) destruction  2) practice 3) depression 4) exercise 

PART E: Reading Comprehension 
Directions: Read the following passage and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the 

correct choice on your answer sheet. 

Heart disease is Western society’s number-one killer. It accounts for one-third of deaths in America 

and for well over half the deaths among middle-aged men. Heart disease was relatively rare in 

America at the start of the 20th century, but it has risen greatly since then, with a slight downturn 

since 1960. Heart disease is often viewed as a disease of modern living, spurred on by the habits and 

the stress of industrialized society. Evidence for this idea comes from the fact that non-Western 

societies have relatively low rates of heart disease. And there is a higher rate of heart disease among 

immigrants to America, such as Japanese-Americans and Chinese-Americans, than among those who 

remain in their native country, suggesting that something about the Western environment promotes 

the development of the disease. 
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   Heart disease usually involves the formation of a fatty substance called plaque in the walls of the 

coronary arteries that are arteries supplying blood to the heart. If the arteries become narrowed 

enough or blocked, the person may suffer a heart attack (death of a region of heart muscle tissue). 

Among the many factors that have been found to be related to the risk of developing heart disease 

are high blood pressure (or hypertention), a history of heart disease among one’s close relatives 

(indicating a possible genetic predisposition to the disease), cigarette smoking, being relatively 

overweight, and a high level of a fatty substance called cholesterol in the blood. 

157- According to the passage, when did heart disease begin to rise? 

1) A few years before1960  

2) After the 20th century began  

3) When people began to leave their home countries 

4) When the number of middle-aged people increased 

158- What does the writer mean by “this idea” in paragraph 1? 

1) The fact that heart disease is number-one killer in America 

2) The fact that non-Americans have a low rate of heart disease 

3) The fact that a rise in heart disease is a product of modern life 

4) The fact that it is stressful to make a very industrialized one 

159- Which of the following is TRUE about “those who remain in their native country,” in paragraph 1? 

1) They are the people in non-Western countries who do not leave their countries. 

2) They are more likely to have heart disease because they do not have a healthy lifestyle. 

3) They are those Japanese-Americans and Chinese-Americans who go back to their native countries. 

4) They are those people from non-Western countries who seem to have a family record of heart disease. 

160- Which of the following is NOT defined in the passage? 

1) plaque   2) coronary arteries  

3) heart attack   4) close relatives  
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